QUALITATIVE PROPERTIES OF FUNCTIONAL DIFFERENTIAL EQUATIONS WITH "MAXIMA"

B.G. ZHANG AND GUANG ZHANG

ABSTRACT. In this paper some qualitative properties of the solutions for the functional differential equations with "maxima" of the form

$$[x(t) - p(t)x(t - \tau)]' + q(t) \max_{[t - \sigma, t]} x(s) = 0$$

are established.

1. Introduction. Consider the neutral differential equation

(1)
$$[x(t) - p(t)x(t-\tau)]' + q(t) \max_{[t-\sigma,t]} x(s) = 0,$$

where $\tau > 0$, $\sigma \ge 0$ and $p, q \in C([t_0, \infty), R)$. The differential equations with "maxima" are often met in the applications, for instance, in the theory of automatic control [8, 9]. The qualitative theory of these equations has been developed relatively little. The existence of periodic solutions of the equations with "maxima" is considered in [10] and [11]. The oscillatory properties of Equation (1) are considered in [1-3]. The main goal of this paper is to discuss more comprehensively the oscillation and nonoscillation of Equation (1).

By a solution of (1) we mean a function x which is defined for $t \ge -\max(\sigma,\tau)$ and which satisfies (1) for $t \ge 0$. By the method of steps, we know that, for a given initial function $\phi \in C([-\max(\sigma,\tau),0],R)$, there exists a unique solution defined for $t \ge -\max(\sigma,\tau)$ and which satisfies the initial condition for $-\max(\sigma,\tau) \le t \le 0$.

A nontrivial solution of (1) is said to be oscillatory if it is neither eventually positive nor eventually negative. Otherwise, the solution

AMS (1991) Mathematics Subject Classification. 34K15.

This work is supported by NNSF of China.

Received by the editors on August 26, 1996, and in revised form on May 1, 1997. Key words and phrases. Functional differential equation with "maxima," oscillation, nonoscillation, asymptotic behavior.

is called nonoscillatory. A solution is called Z-type if it is either nonpositive or nonnegative.

Equation (1) is much different from the equation without "maxima" of the form

$$[x(t) - p(t)x(t - \tau)]' + q(t)x(t - \sigma) = 0.$$

For example, it is easy to see that (1) is nonlinear and (2) is linear. In particular, the following result is obvious.

Property 1. The function x(t) is an eventually negative solution of Equation (1) if and only if y(t) = -x(t) is an eventually positive solution of the equation

(3)
$$[y(t) - p(t)y(t-\tau)]' + q(t) \min_{[t-\sigma,t]} y(s) = 0.$$

From Property 1, we can see that the positive and negative solutions of Equation (1) need to be discussed separately.

In Section 2, we will discuss the delay differential equations with "maxima"

(4)
$$x'(t) + q(t) \max_{[t-\sigma,t]} x(s) = 0.$$

(4)
$$x'(t) + q(t) \max_{[t-\sigma,t]} x(s) = 0,$$
(5)
$$x'(t) + q_1(t) \max_{[t-\sigma,t]} x(s) + q_2(t)x(t-r) = 0,$$

and

(6)
$$x'(t) + q(t) \max_{[t-\sigma,t]} x(s) = r(t),$$

respectively.

In Section 3, we obtain some oscillation and nonoscillation results for Equation (1).

2. Delay equations. The following results show that the behavior of solutions of (4) is much different from the delay equation

(7)
$$x'(t) + q(t)x(t - \sigma) = 0$$

where $q \in C(R^+, R)$ is one sign and $\sigma > 0$.

Theorem 1. If q(t) is of one sign, then all solutions of Equation (4) are nonoscillatory.

Proof. When $q(t) \equiv 0$ or $\sigma = 0$, Theorem 1 is obvious. Therefore, we assume that $q(t) \not\equiv 0$ and $\sigma > 0$.

If $q(t) \geq 0$, suppose that x(t) is an oscillatory solution of Equation (4). Then x(t) is not a Z-type solution and otherwise $x(t) \equiv 0$ eventually. Therefore, there exist t_1, t_2 and t_3 such that $x(t_1) = x(t_2) = x(t_3) = 0$ and x(t) < 0 for $t \in (t_1, t_2)$ and x(t) > 0 for $t \in (t_2, t_3)$. Thus, $x'(t_2) = -q(t_2) \max_{[t_2 - \sigma, t_2]} x(s) \leq 0$, which is a contradiction. For $q(t) \leq 0$, Theorem 1 can be proved similarly. The proof is complete.

Remark 1. If q(t) has the same sign, by Theorem 1, solutions of (4) are more nonoscillatory in nature than those of (7).

When q(t) is oscillatory, we see that Equation (4) may have oscillatory solutions. For example, consider the equation

(8)
$$x'(t) + \sin t \max_{[t-2\pi,t]} x(s) = 0,$$

which has an oscillatory solution $x = \cos t$. But it also has a nonoscillatory solution $x = -2 - \cos t$. This example shows that (4) is different from the ordinary differential equation without delay.

Theorem 2. If q(t) is oscillatory, then (4) has at least one nonoscillatory solution.

Proof. Assume that $q(t_n)=0$ for $\{t_n\}_{n=1}^\infty$ and $\lim_{n\to\infty}t_n=\infty$ and $q(t)\geq 0$ for $t\in (t_1,t_2),\ q(t)\leq 0$ for $t\in (t_2,t_3),\ q(t)\geq 0$ for $t\in (t_3,t_4),\ldots$. We define a function $\phi(t)$ for $t\in [t_1-\sigma,t_1],$ which is nondecreasing and negative; then (4) has a solution $y(t)=\phi(t_1)\exp(-\int_{t_1-\sigma}^t q(s)\,ds)$ for $t\in [t_1-\sigma,t_2]$. It is obvious that y(t)<0 for $t\in [t_1-\sigma,t_2]$ and $\max_{[t-\sigma,t]}y(s)=y(t)$. By the method of steps, we can obtain y(t) for $t\geq t_1-\sigma$. In view of $q(t)\leq 0$ for

 $t \in (t_2, t_3)$, we know that y(t) < 0 for $t \in [t_1 - \sigma, t_3]$ and $y(t) \le y(t_2)$ for $t \in [t_2, t_3]$. We note that $q(t) \ge 0$ for $t \in [t_3, t_4]$. If there exists $\xi \in (t_3, t_4)$ such that $\max_{[\xi - \sigma, \xi]} y(s) = y(t_2)$, then we have $y'(t) = -q(t) \max_{[t - \sigma, t]} y(s) = -q(t)y(t)$ for $\xi \le t \le t_4$. By induction we know that y(t) < 0 for $t \ge t_1 - \sigma$. The proof is complete. \square

Now we consider Equation (5), where $q_1, q_2 \in C([t_0, \infty), R^+), \sigma_1 \geq 0$, $\sigma_2 \geq 0$. It is obvious that, if x(t) is an eventually positive solution of (5), then it satisfies

(9)
$$x'(t) + q_1(t)x(t - \sigma_1) + q_2(t)x(t - \sigma_2) = 0$$

and if x(t) is an eventually negative solution of (5), then it satisfies the equation

(10)
$$x'(t) + q_1(t)x(t) + q_2(t)x(t - \sigma_2) = 0.$$

By the comparison result, we have

Theorem 3. If Equation (10) is oscillatory, then so is Equation (5).

By comparing (9) and (10), we know that the solutions of (5) are more nonoscillatory in nature than those of Equation (10). For example, it is well known that the equation

(11)
$$x'(t) + q_1(t)x(t - \sigma_1) + q_2(t)x(t) = 0,$$

may have oscillatory solutions, see [7]. But the equation

(12)
$$x'(t) + (q_1(t) + q_2(t))x(t) = 0,$$

is nonoscillatory. By Theorem 3, the equation

(13)
$$x'(t) + q_1(t) \max_{[t-\sigma_1,t]} x(s) + q_2(t)x(t) = 0,$$

has nonoscillatory solutions.

We now consider the forced equation (6), where $r \in C([t_0, \infty), R)$ and q, σ are the same as in (1). It is different from the equation

(14)
$$x'(t) + q(t)x(t - \sigma) = r(t).$$

Theorem 4. Assume that $q(t) \ge 0$ and that there exists R(t) such that R'(t) = r(t). Let $R_+(t) = (|R(t)| + R(t))/2$ and $R_-(t) = -(|R(t)| - R(t))/2$ such that

(15)
$$\int_{T}^{\infty} q(t) \max_{[t-\sigma,t]} R_{+}(s) dt = \infty,$$

$$\int_{T}^{\infty} q(t) \max_{[t-\sigma,t]} R_{-}(s) dt = -\infty.$$

Then all solutions of (6) oscillate.

The proof is similar to (14); for example, see [6]. It is omitted.

Consider the equation

(16)
$$x'(t) + \max_{[t-\tau,t]} x(s) = \cos t.$$

Theorem 4 does not hold for (16) because $\max_{[t-\pi,t]} R_-(s) \equiv 0$. In fact, $x = \sin t - t$ is a nonoscillatory solution of (16). But, by the known result [6], all solutions of the equation

(17)
$$x'(t) + x(t - \pi) = \cos t,$$

oscillate.

3. Neutral equations. In this section we first obtain a lemma for Equation (1) which is useful for the proof of the main theorems.

Lemma 1. Assume that

(i) $p(t) \geq 0$ for $t \geq t_0$ and there exists a $T \geq t_0$ such that

(18)
$$p(T+j\tau) \le 1, \quad j=0,1,2,\ldots,$$

- (ii) $q(t) \geq 0 (\not\equiv 0)$ for $t \geq t_0$.
- (iii) x(t) is an eventually positive solution of (1) (or (3)). Set

(19)
$$y(t) = x(t) - p(t)x(t - \tau).$$

Then y(t) > 0 eventually.

The proof is similar to the proof for (2) in [5].

Theorem 5. Assume that the assumptions of Lemma 1 hold and either p(t) > 0 or $\sigma > 0$ and $q(t) \ge 0 (\not\equiv 0)$ for $t \in [u - \sigma, u]$ for all large u. Then Equation (1) has eventually positive solutions if and only if

(20)
$$[x(t) - p(t)x(t-\tau)]' + q(t) \max_{[t-\sigma,t]} x(s) \le 0$$

has eventually positive solutions and Equation (3) has eventually positive solutions if and only if

(21)
$$[x(t) - p(t)x(t-\tau)]' + q(t) \min_{[t-\sigma,t]} x(s) \le 0$$

also has eventually positive solutions.

The proof of Theorem 5 is similar to Theorem 1 in [13].

Theorem 6. Assume that (i) and (ii) of Lemma 1 hold and that there exists some integer N such that

(22)
$$\liminf_{t \to \infty} \int_{t-\tau}^{t} q(s) \max_{[s-\sigma,s]} \sum_{j=0}^{N-1} \prod_{i=0}^{j} p(u-i\tau) \, ds > \frac{1}{e}.$$

Then each solution of Equation (1) oscillates.

Proof. If x(t) is an eventually positive solution of Equation (1), then $y'(t) \leq 0$ and $y(t) = x(t) - p(t)x(t-\tau) > 0$ eventually. Then

$$x = y(t) + p(t)x(t - \tau)$$

$$= y(t) + p(t)y(t - \tau) + p(t)p(t - \tau)x(t - 2\tau)$$

$$= \cdots$$

$$\geq y(t) + p(t)y(t - \tau) + \cdots + \prod_{i=0}^{N-1} p(t - i\tau)y(t - (i+1)\tau)$$

$$\geq \sum_{i=0}^{N-1} \prod_{i=0}^{j} p(t - i\tau)y(t - \tau).$$

Hence,

$$\max_{[t-\sigma,t]} x(s) \ge \max_{[t-\sigma,t]} \sum_{j=0}^{N-1} \prod_{i=0}^{j} p(s-i\tau)y(s-\tau)$$

$$= \max_{[t-\sigma,t]} \sum_{j=0}^{N-1} \prod_{i=0}^{j} p(s-i\tau)y(t-\sigma-\tau)$$

$$\ge \max_{[t-\sigma,t]} \sum_{j=0}^{N-1} \prod_{i=0}^{j} p(s-i\tau)y(t-\tau).$$

Substituting the last inequality into (1), we have

(23)
$$y'(t) + q(t) \max_{[t-\sigma,t]} \sum_{i=0}^{N-1} \prod_{i=0}^{j} p(s-i\tau)y(t-\tau) \le 0,$$

which contradicts the fact that, under condition (22), the inequality (23) has no eventually positive solution [7].

If Z(t) is an eventually negative solution of (1), then x(t) = -Z(t) is an eventually positive solution of (3). Similarly, we have

$$y'(t) + q(t) \min_{[t-\sigma,t]} \sum_{i=0}^{N-1} \prod_{j=0}^{j} p(s-i au) y(t- au) \le 0.$$

That is,

$$[-y(t)]' + q(t) \max_{[t-\sigma,t]} \sum_{j=0}^{N-1} \prod_{i=0}^{j} p(s-i au) [-y(t- au)] \geq 0.$$

This is also a contradiction by the same reason to the positive solution. The proof is complete. \qed

For the equation

(24)
$$[x(t) - x(t - \tau)]' + q(t) \max_{[t - \sigma, t]} x(s) = 0,$$

we have the following result.

Theorem 7. Assume that $q(t) \geq 0$. Then (24) has nonoscillatory solutions if and only if

(25)
$$Z''(t) + \frac{1}{\tau}q(t)Z(t) = 0$$

also has nonoscillatory solutions.

Proof. Assume that x(t) is an eventually positive solution of (24). Let $y(t) = x(t) - x(t - \tau)$; then y(t) > 0 and $y'(t) \le 0$ eventually. Let T be a large number so that x(t) > 0, y(t) > 0 and $y'(t) \le 0$ for $t \ge T - \tau$. Set $m = \min\{x(t) : -\tau \le t \le T\}$. When $N \le t \le N + \tau$, we have

$$x(t)=y(t)+x(t- au)\geq rac{1}{ au}\int_t^{t+ au}y(s)\,ds+m.$$

By induction, for $T + k\tau \le t \le T + (k+1)\tau$,

$$x(t) \ge \frac{1}{\tau} \int_{t-k\tau}^{t+\tau} y(s) \, ds + m.$$

Hence,

$$x(t) \ge \frac{1}{\tau} \int_{T^*}^{t+\tau} y(s) ds + m, \quad t \ge T^* \ge T + \tau,$$

and

$$x(t) \ge rac{1}{ au} \int_{T^* + au}^t y(s) ds + m, \quad t \ge T^* + au.$$

Set

$$Z(t) = \frac{1}{\tau} \int_{T^* + \tau}^t y(s) \, ds + m.$$

Thus, we have

(26)
$$Z''(t) + \frac{1}{\tau}q(t)Z(t) \le 0,$$

which implies that (25) has an eventually positive solution.

If x(t) is an eventually positive solution of the equation

(27)
$$[x(t) - x(t - \tau)]' + q(t) \min_{[t - \sigma, t]} x(s) = 0,$$

we can also prove that (25) has an eventually positive solution by the above method.

If (25) has an eventually positive solution Z(t), then $Z''(t) \leq 0$ and Z'(t) > 0 eventually. Therefore, there exist T and M > 0 such that Z(t) > M and Z'(t) < M eventually. Set

$$H(t) = \begin{cases} \tau Z'(t) & t \ge T \\ (t - T + \tau)Z'(T) & T - \tau \le t < T, \\ 0 & t < T - \tau. \end{cases}$$

Then $H(t) \geq 0$. Define

$$y(t) = \sum_{i=0}^{\infty} H(t - i\tau) > 0$$

and

$$y(t) - y(t - \tau) = H(t)$$
 for $t \ge T$.

That is,

$$y(t) - y(t - \tau) = \tau Z'(t).$$

Setting

$$\mu = \max\{y(t), T - \tau < t < T\},\$$

we have

$$\begin{split} y(t) &= \tau Z'(t) + y(t - \tau) \\ &\leq \int_{t - \tau}^{t} Z'(s) \, ds + y(t - \tau) \\ &\leq \int_{t - 2\tau}^{t} Z'(s) \, ds + y(t - 2\tau) \\ &\leq \int_{t - n\tau}^{t} Z'(s) \, ds + y(t - n\tau). \end{split}$$

Therefore, we have

$$y(t) \le \int_T^t Z'(s) \, ds + \mu \le Z(t) \quad ext{for} \quad t \ge T.$$

Thus,

$$\max_{[t-\sigma,t]}y(s)\leq Z(t)\quad\text{and}\quad \min_{[t-\sigma,t]}y(s)\leq Z(t)\quad\text{for }t\geq T.$$

Therefore, we have

$$[y(t) - y(t - \tau)]' + q(t) \max_{[t - \sigma, t]} y(s) \le 0$$

and

$$[y(t)-y(t- au)]'+q(t)\min_{[t-\sigma,t]}y(s)\leq 0.$$

By Theorem 5, (24) has no noscillatory solutions. The proof is complete. \Box

Theorem 8. Assume that $p(t) \equiv p \neq -1$, $q(t) \geq 0$, and

(28)
$$\int_{t_0}^{\infty} q(s) \, ds = \infty.$$

Then any nonoscillatory solution x(t) of (1) satisfies $\lim_{t\to\infty} x(t) = 0$.

Theorem 9. Assume that $p(t) \equiv -1$, $q(t) \geq 0$, $Q(t) = \min\{q(t), q(t-\tau)\}$ and

$$\int_{t_0}^{\infty} Q(t) dt = \infty.$$

Then any eventually positive solution x(t) of (1) satisfies $\lim_{t\to\infty} x(t) = 0$.

The proofs of Theorems 8 and 9 are similar to Theorems 2 and 1 in [12].

Remark 2. Theorem 6 improves Theorem 3 in [1].

Remark 3. By Theorem 7 and the known results of Equation (25), we can obtain some improved results for Equation (24). For example, consider the equation

(30)
$$[x(t) - x(t - \tau)]' + \frac{k}{t^2} \max_{[t - \sigma, t]} x(s) = 0.$$

We may show that every solution of Equation (30) is oscillatory if and only if $k > 1/(4\tau)$. Therefore, we see that Theorem 7 improves Theorem 1 in [1].

REFERENCES

- 1. D. Bainov, V. Petrov and V. Proicheva, Oscillation of neutral differential equations with "maxima," Rev. Math. 8 (1995), 171-180.
- 2. —, Oscillation and nonoscillation of first order neutral differential equations with maxima, SUT J. Math. 1 (1995), 17–28.
- 3. ——, Oscillatory and asymptotic behaviour of second order neutral differential equations with "maxima," Dynamic Systems Appl. 4 (1995), 137–146.
- 4. D.D. Bainov and A.I. Zahariev, Oscillating and asymptotic properties of a class of functional differential equations with maxima, Czechoslovak Math. J. 34 (1984), 247–251.
- 5. Q. Chuanxi, G. Ladas, B.G. Zhang and T. Zhao, Sufficient conditions for oscillation and existence of positive solutions, Appl. Anal. 35 (1990), 178–194.
- 6. L.H. Erbe, Q. Kong and B.G. Zhang, Oscillation theory for functional differential equation, Marcel Dekker, Inc., New York, 1995.
- 7. G.S. Ladde, V. Lakshmikantham and B.G. Zhang, Oscillation theory of differential equations with deviating arguments, Marcel Dekker, Inc., New York, 1987.
- 8. A.R. Magomedov, On some problems of differential equations with "maxima," Izv. Acad. Sci. Azerb. SSR, Ser. Phys.-Techn. and Math. Sci. 108 (1977), 104–108, in Russian.
- ${\bf 9.}$ E.P. Popov, $Automatic\ regulation\ and\ control,$ Nauka, Moscow, 1966, in Russian.
- 10. Yu. A. Ryabov and A.R. Magomedov, Differential equations with maxima, Preprint No. 75, Bacou, 1983, Inst. Physics Acad. Sci. Azerb. SSR, in Russian.
- 11. ——, On the periodic solutions of linear differential equations with maxima, Math. Physics, Acad. Sci. Vkr. SSR 23 (1978), 3–9, in Russian.
- 12. J.H. Shen and J.S. Yu, Asymptotic behavior of nonoscillatory solutions for the neutral differential equations, Math. Pract. Theory 4 (1995), 47–53.
- 13. B.G. Zhang, J.S. Yu and Z.C. Wang, Oscillatinos of higher order neutral differential equations, Rocky Mountain J. Math. 25 (1995), 557–568.

DEPARTMENT OF APPLIED MATHEMATICS, OCEAN UNIVERSITY OF QINGDAO, QINGDAO, SHANDONG 266003, P.R. CHINA

Department of Mathematics, Datong Advanced College, Datong, Shanxi 037008, P.R. China